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OPTION-E |
_ (Fundamentals of Financial Management)

Paper : COM-RE-5056

1. A Answer the followmg as directed :
: : 1x10=10

ﬁzﬁn@ﬁrw—ﬁmﬂqx%@awo

(a) Key financial functions of a firm does.
not include.

ot <o & fEn e fooo

(i)  investment decision (RIS =)

(ii). dividend decision (E'l@ﬂ\“f Rfeiwd
frars)

(iiij) buying decision («.Tr*?I rae) -
(iv) financing decision (RSW F=Is)
_(b) Capital budgeting is a part of
T JED B T
(i) investment décision (R Fare)

(i) working capital ménagement

(TR A SIRE)
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| (i) capital structure (EH SAR)
(iv) dividend decision (FTeJI ﬁﬁWﬁ
Pras)

(c) Optimum capital structure refers to
‘ the debt equity mix where

oPPY TeEm MR I T A TR G

| (i) debt is higher than 'equity ,
3 I RS W

(i) equity is higher than debt
A YIS TS 2T

(iii) the firm’s cost of capital is
minimum and value of the firm is
maximum. - «

WWWWWNW
efovis o0 FRifds =@

(iv) All of the above
| @oRT DREN

(d) Under Net Present Value method, a
project is accepted when present value

(PV) of outflow is present value
(PV) of inflows. ' '
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IS I6TH T (Net prescnf value) “i@fo®

- 51 2 ee] I T CofeR WA 4 IfRofR

TG T AW R S IO ST
71|

- () ore than (& )
(ij) less than (3% ) :
(iii) equal to (AN =)
fiv) None of the above (871 «le 72A)

(e) Current assets are twibe -fhe current
liabilities. If the working capital is

" Rs. 20,000, current assets would be :

S S S
T 20,000 T TW, (o8 et vifes
R =¥

() Rs. 10,000 (10,000 5=)
(i) Rs. 20,000 (20,000 5)
(iii) Rs. 40,000 (40,000 )
(i) Rs. 80,000 (80,000 5)
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(@

(b)

()

@

(e)

Write whether. the following statements
are True or False :

woTe Tl R 0% @7 quE B

When the company pay dividend in the
form of bond, it is called -property
dividend.

ERE R T e o fal
CofoR ©F TS TN @I |

Receivables are liabilities.

AR (R oA

When profitability index exceeds one,
the proposal for investment is accepted.

=S SEiae 5T (AfeA 47 6 7F, cofeml
RiNc a@Rmt o>e w1 = |

The ‘hi-gher' the degree of financial
leverage, the greater is the financial risk.
Reh fereies wrie RiEE ofie a5 Rew
Romics Frameg gfa =i

Investment decision is not related to
working capital management decision.

ﬁﬁmﬁﬁmm@@www
S Tow I | -
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2. | Answer the following quéstions in about 50
words each : ' - 2x5=10

soﬁw%?—ﬁm% ﬁﬁcﬁm@@aﬁm
(@) What is equity share ?

293 it R
(b) What is financial decision ?
RER Frars R A
(c) Write two charactenstlcs of financial
leverage.

e foreiaem 71 @Yy frall
(d) What is meant balanced capita.l.

structure ? |
SN o ol 3fenat & gime
(e) Define cash management.
o orﬁsimﬁ L CARTRI
3. Answer any four questions of the following
* in about 150 words each : 5x4=20

&R Rl bR e STeRE 2l 15061 X9
fSoqe Tet 391 3

" (@) What are the importance of financial
management ?

ﬁ@ﬂﬂﬁmma@wﬁﬁs?
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(p) How is cost of retamed earmngs
ascertamed ?

wITe T BeAfeRE W @S W
e '
(c) What are the limitations of Capitail
budgeting ? '
- EEA TR ﬁm &2
(d) Describe the various types of dividend
policy.
e e srepied TS 3 =M1

(e) Mention five determinants of working
capital.

W@Wﬁcﬁw A5 S T |

(/) Based on the following information
calculate Qperating Leverage and
Financial Leverage : - 2+42+1=5

ﬁmwmf‘%—wﬁ’ﬁsﬁv@w
wﬁ@n%@@@ﬁmqam°

Sales (R&¥) 3 20,000 units (¢s1i5)
Selling price (R& V) ¢ Rs. 200 per
unit (S ¢NB) ‘
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Variable cost (RIS %) 3 Rs. 140
per unit (&f® ¢aIf5)

Total fixed cost (o %7 ?N) 8

Rs. 6,00,000 '

Debt (34) ¢ Rs. 40,00,000 at 10%

rate of interest (10% K Q‘ﬁ@
Rs. 40,00,000)

~ If the business firm wants to double
its operating profit, sales has to bé
: increase’d by what percentage ?

ﬂﬁwaﬁmmwwwz@q
W[RE [, ﬁzﬁﬁwwmqﬁasﬁa

GBS
4. Answer any Jour of the followmg questions
in about 600 words each : 10x4=40

e RCICAl- IfI5! 2R AT A $ooH! WA

S foete Tex =i 3

(a) Explain the scope of financial
management. What role should the

financial ‘manager play in the modern
business ?

R IRElew vn%sw P | YRS
Wﬁ@wﬁm%%mww
‘@fﬁ@?
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(b) Briefly discuss the Modigliani-Miller
approach about cost of capita_l.
| TR TN TS Modlgham-Mlller 3
Qi B*ans \*Snmw |

(o) Examine the ‘need and importance of

cap1ta1 budgetlng

smﬁrw@wwswmww
|

(d) What is Accounting Rate of Return ?
Explain the . advantages and

limitations of Accounting Rate of

Return. A 2+4+4=10
f2prti Seifeia =19 e ﬁstvﬂz;-@ofwfa |
AR = ﬁw T |

(e What is dividend? Discuss the
important factors which ~ determine
dividend policy of a company. 2+8=10 "
e {7 (IR GO A TS Reffaet
TN S} FRETR WA F7
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() Examine the importance and scope of
accounts receivables management.

sy Roe - sifRerems o I AR
‘ sfitaet A1 .

"(g) What-is working capital? On the
formation of a new business, what
considerations are taken into account

" in estimating the amount of working
capital required ? : 2+8=10-
IR T 2 T RPN Bt SR TS
IGER T [ IR T B R
Resa == :

. (h) From the 1nformat10n given below,

calculate the Net Present Value of the
two projects :

Project A Project B |
(SFH A) (25 B)

(Rs.) (Rs.)
Initial Investment 1,60,000 1,60,000
(=S Rfacas) . o
Estimated Life 4 years 4 years

(SRS Fierle) () - ()
"~ Scrap value - - -
- ) |
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Cash flows to be generated by prOJects are
as follows :

m@i@wwﬁw‘ﬂmnﬂwwﬁﬂﬁ%,
99T ¢

Year 1  Year 2 Year 3 - Year 4
@E ) (@) (=) 6gf =)
Project A 50,000 80,000 40,000 20,000
(&5 A) :
Project B 80,000 60,000 40,000 . 10,000
(2% B) | |
Assume a discount rate of 10%
(4R =1 AT =W 10%)
- Also suggest which project should be
accepted with valid justification. 4+4+2=10

aﬂz@mwwﬁ%mmaﬁqweﬁe
ol fran |
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OPTION-F
(Indirect Tax Laws)
. Paper : COM—RE-5066 .
1. (a) State whether the statements are true

or. false o : 1x5=5
Ofel og mwm WW

(i) Ind1a is ‘the first country to
B introduce Dual GST.

-WGSTWWWWE’H
L o7 |

(ii) Assam VAT Act 2003 came into
. effect from 1st Day of May, 2005.

2005 571 #If&ET (1 ©Iff o[l SFT
VAT Wi%d, 2003 &cey C2fes |
(iii) . Prohibited goods-can‘be exported.
e w3l R] R0
(iv) GST i’s.a destinéti_on. based tax.
 GST 29 ¢ THefes 391

(v) Excise duty is levied on the
manufacture of excisable goods in
India.

TSRS TR SHIY T Tl
@IS TR TF WA I A -
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.(b) Fill in the blank- with appropriate

- word/words : " 1x5=5
BoR@ ¥ AT 3R 23 7 8
(i) - MRP based duty is levied on different
of alcohol. B
WRIREA - 3evivs MRP it 3=
i@ w0 @
(ii) VAT‘is a type of __ tax.
VAT Q7 _ 39 <l &9l |
(iiij) GST is the sum total of __ and
SGST/UGST. :
GSTTA___ ©I% SGST/UGSTS Gaisie |
(i) A____is filed on or before the arrival

- of the imported goods. |
GIMIAFS T R S | OF S5 G2
i wike s
() The full form of cGSTis
' CGST? mcf FAH! BT _

2. 'Answer the followmg questions : 2x5=10 . |

(a) What is Reverse Charge Mechamsm
~under GST?

‘GSTR TS emww N 2
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3.

(b)

()

(@

(e)

State two features of Value Addéd Tax.
o7 e F9 707 W@y S |

‘What is the meaning .o.f the term

Protective Duty’?
LT I W wief 2

State the deﬁmtlon of the term ‘Factory’
under the Central Excise Act, 1944.

@ SRFIT S, 10447 GRS TR
(oI AR A

Mention two benefits of GST to

_ consumers.

Toreeitsl GSTI zﬁraﬁmﬁm&xmn ’

Answer any four questions : 5x4=20

ﬁmmwﬁ?rmwm

(@)

(b)

(c

Explain in brief the different types of
custom duties. ‘

R 2 ST 0% < 5 T PR |

What are the types of Value Added
Tax ?

TU HRMES T &oRER & e
Explain the basis of levy of Excise Duty.
TR OF ST o6 g w01
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4.

(@)

0

‘Write a brief note on GST Council.

. GST 79 ese 9ft 53 Gt Bt
" (e) Mention the features of GST.
GSTY WRBERE B 1|
Explain the term ‘Business’ under GST.
GSTS SRS RA’ =RCo! <t =41 |
Answer any four queStions : 10x4=40
. R sifE os e e 2
(@) Explain the custom procedure for
~ import of goods. '
of VIR TR T FIERRE w0 0
(b) Write a detail note on ‘Goods and
Services Tax Network’ (GSTN).
‘o] W FRI I9 FIGOF (GSTN)T 8w afp
fge G Bt i
(c) Mention the different types of indirect

taxes in India levied by the Central
Government and State Governments
before the implementation of GST.

GST 93T QAN W5 SiNedd® (T¢I
5IPR WIF e HIPREIE Sieaia 1 R[fen
WWWWW|
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'(d)'- Mention the provisions of cbmpulsory

~ registration under the GST law in India.

TIFEH® GST WITT HTTS IO
 AGTTR wﬁ e T |

(e) - ,Descrlbe the procedure of registration
- under the Central Excise.Act.

R R Waw AGRT FRIRR
EeoiEs (I

() Briefly explain the various types of audit
under the GST Law in India.
OReIHS GST Wiz Sdie Rfen i Ko -
ASTHPIR T T 4 |

(g) Explain the provisions of the Customs

Act, 1962 regarding grant of exemption .
from custom duty. '

T 7 519 ({22 ST A A O
wi2d, 19627 JRFRE P01 4|
‘(h)  Explain the terms ‘Manufacture’ and .

‘Place of Removal’ under the Central
Excise Act. ‘

PP S S ——
AR *37 oI PP |
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